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SUUGUOLHUDULIUIAOUIUICY |

Exercise |

1. volailumsnandaus:znouudy 2,057

(1) 2,057 = 121 x 17
(2) 2,057 = 11 x 187
(3) 2,057 = 1 x 11 x 17
(4) 2,057 = 11 x 11 x 17



audtivovdusuldunazcusuidv |

Exercise |

2. A.S.U. YudL 120 , 150 na:= 200 Aaousulfudela
(1) 300
(2) 450
(3) 600
(4) 1,200



SUUGUOLNUDUIUNAzO DI |

Exercise |

3. dwoulioanda 1Wemsdda 9, 12, 16 , 18
nd21naoiAY 6 IMNU Aodwudula
(1) 120
(2) 144
(3) 150
(4) 184



SUUGUOLHUDULIUIAOUIUICY |

Exercise |

4. mnruall XY = 735 M K.S.U. yov X na: Y fio 7 1ad

A.S.U. UoV X na: Y Aoowuaula
(1) 7

(2) 21

(3) 35

(4) 105



SUUGUOLNUDUIUNAzO DI |

Exercise |

5. golacioluuwa
(1) A.s.u. UoL 8 Na: 12 no 4
(2) A.s.u. yoL 8 na: 12 no 24
(3) doUs:=nousdIuUOL 8 Na: 12 Ao 1, 2 l1a: 4
(4) cdOUs:NdUSIUUOL 8 Na: 12 RO 2 na: 4



SUUGUOLNUDUIUNAzO DI |

Exercise |

6. TR a WudwduNINNEa NMs 170 na: 94 N&dIKASIAY 5
na: 4 cnuadu 1dd a + 5 Tiiluwnatuvevdusulacdolul
(1) 2
(2) 3
(3) 4
(4) 5



SUUGUOLNUDUIUNAzO DI |

Exercise |

7. MIA A 10udomssounuaL 36 na: 54 na: B 10U
doArusouldoauoL 36 na: 54 132 B + A o:Umiduinlia
(1) 2
(2) 3
(3) 4
(4) 6



SUUGUOLNUDUIUNAzO DI |

Exercise |

8. NAuSUAINAgUANUWI N3 63 1MAS D 72 IAas dovms
nividusuainaaudasannsuna:owunuininga Tanbruanivav
(1) 56 ndav
(2) 49 ndav
(3) 42 ndav
(4) 15 ndav



SUUGUOLHUDULIUIAOUIUICY |

Exercise |

9. doladelutigndov
ME2)+(-3)+4=1
2)3-(-2)-1=0
(3) (=3) x (<2) x (-4) = 24
4) (-12) + 6 + (-2) = 1



audtuevtusulduna:owsoulfiu |

Exercise |

10. 1 A na: B iUususwmauuan Taanluiliavgugausinnosi
M A x B =1,000 n1a: A > B 1a? A - B iim mla



